
Consigne : Effectue ces calculs en ligne en utilisant la stratégie des modèles. 

 
Je m’appelle :                                 Nous sommes le : 

 
23 x 20 = 460  23 x 200 = 4 600   23 x 2 000 = 46 000  
 

 

12 x 20 =  

20 x 20 =  

34 x 20 =  

41 x 20 =  

33 x 200 =  

42 x 200 =  

24 x 200 =  

15 x 200 =  

18 x 200 =  

25 x 200 =  

28 x 2 000 =  

52 x 2 000 =  

23 x 2 000 =  

19 x 2 000 =  

35 x 2 000 =  

260 x 20 =  

270 x 20 =  

370 x 200 =  

290 x 2 000 =  

518 x 2 000 =  

  



 

 

CORRECTION 
 
 

12 x 20 = 240 

20 x 20 = 400 

34 x 20 = 680 

41 x 20 = 820 

33 x 200 = 6 600 

42 x 200 = 8 400 

24 x 200 = 4 800 

15 x 200 = 3 000 

18 x 200 = 3 600 

25 x 200 = 5 000 

28 x 2 000 = 56 000 

52 x 2 000 = 104 000 

23 x 2 000 = 46 000 

19 x 2 000 = 38 000 

35 x 2 000 = 70 000 

260 x 20 = 5 200 

270 x 20 = 5 400 

370 x 200 = 74 000 

290 x 2 000 = 580 000 

518 x 2 000 = 1 036 000 

 


